S1 2nd Level Homework
Number Work
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Section A (Remember NO workings allowed!)
1.   Round 3456 to the nearest
a)   10		b)   100	c)   1000
2.   Calculate the following
	a)   10 × 13	b)   6500 ÷ 100	c)   4.867 × 100	d)   13 × 20	
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3.   The local member of Parliament wanted to deliver 64000 leaflets before the election.  How many leaflets did each of the 80 volunteers deliver?

[image: ]Section B (Remember ALL working must now be shown!)
4.	A school trip to Rome was calculated to cost a total of £57,813.  40 pupils choose to go.
	a)   By rounding to the nearest £1000, estimate the cost per pupil
	b)   Would the estimated cost per pupil be enough to cover the cost of the trip?
	c)   How much extra would each pupil have to pay?

5.  	A school football kit costs the school £8.73 per kit from the supplier.   A school purchases 60 kits.  What is the total cost?

Section C (Remember NO calculators allowed)

6.   Calculate 25% of £7.6037.6mm
21mm
9.7mm
44mm
17.2mm


7.	Calculate the perimeter of the shape
shown, giving your answer in cm.

8.   £32.90 - £16.24
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